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Minusrechnen (bis 250 000)

Subtrahieren

Aufgabe 1 Aufgabe 2

1. 185496 - 130 547

1. 200 248 - 160375 =

2. 184 165 - 89 608 2. 110735 - 110594 =

3. 110081 - 62980 = 3. 179023 - 73918 =
4. 234529 - 229899 = 4. 198 690 - 126922 =
5129115 - 87813 = 5 195989 - 123523 =
6. 201987 - 134 027 = 6. 235850 - 147 041 =
7. 145035 - 73212 = 7. 70543 - 55958 =
8. 175033 - 71289 = 8. 159 677 - 71007 =
9. 93961 - 36866 = 9. 187129 - 113211 =
10, 179305 - 26766 = 10. 170640 - 78138 =
Aufgabe 3 Aufgabe 4

1. 196377 - 61048 = 1. 201288 - 99878 =
2. 156 184 - 141008 = 2. 72642 - 55715 =
3. 94747 - 31101 = 3. 162328 - 150273 =
4. 199903 - 150 076 = 4. 173522 - 135592 =
5. 225606 - 152 357 = 5 235840 - 212 757 =
6. 207658 - 46011 = 6. 112495 - 85413 =
7. 211346 - 127 574 = 7. 217366 - 58 141 =
8. 126321 - 63573 = 8. 233 748 - 144 615 =
9. 216 416 - 196 488 = 9. 183 804 - 106 789 =

10, 193 154 - 152 932 10, 245160 - 239 365 =
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Minusrechnen (bis 250 000) | ANTWORTEN

©
Qe

Subtrahieren

Aufgabe 1 Aufgabe 2
1. 185496 - 130547 = 54 949 1. 200248 - 160375 = 39 873
2. 184 165 - 89608 = 94 557 2. 110735 - 110594 = 141
3. 110081 - 62980 = 47 101 3. 179023 - 73918 = 105 105
4. 234529 - 229899 = 4 630 4. 198 690 - 126922 = 71 768
5 129115 - 87813 = 41 302 5 195989 - 123523 = 72 466
6. 201987 - 134027 = 67 960 6. 235850 - 147 041 = 88 809
7. 145035 - 73212 = 71823 7. 70543 - 55958 = 14 585
8. 175033 - 71289 = 103 744 8. 159 677 - 71007 = 88 670
9. 93961 - 36866 = 57 095 9. 187129 - 113211 = 73 918
10, 179305 - 26 766 = 152 539 10. 170640 - 78138 = 92 502
Aufgabe 3 Aufgabe 4
1. 196377 - 61048 = 135 329 1. 201288 - 99878 = 101 410
2. 156 184 - 141008 = 15 176 2. 72642 - 55715 = 16 927
3. 94747 - 31101 = 63 646 3. 162328 - 150273 = 12 055
4. 199903 - 150 076 = 49 827 4. 173522 - 135592 = 37 930
5 225606 - 152 357 = 73 249 5 235840 - 212 757 = 23 083
6. 207 658 - 46011 = 161 647 6. 112495 - 85413 = 27 082
7. 211346 - 127 574 = 83 772 7. 217366 - 58 141 = 159 225
8. 126321 - 63573 = 62 748 8. 233 748 - 144 615 = 89 133
9. 216 416 - 196 488 = 19 928 9. 183 804 - 106 789 = 77 015
10. 193154 - 152932 = 40 222 10, 245160 - 239 365 = 5 795
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